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v (3£ 507y, BERELS 73D fERETH A A R B A

5 [ R REA [ HIUH 2. IR ERE

HAE MIS Z5 R R IRZS 4. HETORHEH

pn Z54 BOE A 6. i (A ROIRA
RIEGHEE 8. H HI# T
ORI A A AL 10. PRI RN

(3£20 77, HFH 10 70 (a2

fAIIAFAE MIS S5 M (K4 C-V RitE (DL p B2 SR 1)

1963 £, Gunn KB, % n T GaAs i AN DL HL R A 75 GaAs N HL I
i 3x10°V/em i, L8 £ DUAR s O AT R AR 3, IX AN RSB Bk ER IR (Gunn
effect). 1964 4 Koremer i, X557 fPHHIR—3. 545 GaAs e
Waik, fER GaAs 7E w3 T LA B AR 1 SR A .

(20 ) FAETTE R C4ERAR, MR EECY ac 5T RE & XN KRR H
BRI R Bk K,) =&+, +2J,(cosk,a+cosk,a) » Jo F1 Iy A/ T EIH AL
(1) Z4ESRIEIRE TRAT A 851 2 4 A — AT BN X k FEUETEE .
(2) HHE A EWX A5, A RS R R k AR OE R 2R
me (k).
(3) BIZRETT NI, FERETIRAL 22 BR— AN, TR NN, TR (A
HR L1107 ) B 23 AR 005 S A IS B T8
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4. (20 73 BWIRIFERIIE p Bk &4 — €l E R, %R (300K T, Wl
BHLR p=2.84Q-cm. CHFHBIIIKIE A Nar=10"cm™®, B HE fE AEA=
Ear—Ev=0.045eV, 4B HE AEA,=Ep—Ey=0.16eV. KiZ% -S4kl
FE Nazo (% my, = 0.59mq, 25 /GEF  11p=200cm?/V s, HL - Hi & g=1.6>10 °C,
HLTE IR B me=9.1x10% kg, M B H 2 h=6.63x10""s, I H-2% 2% &
k=1.38x<10"°J/K)

Fi. (20 47D n BURE SR THSZ 3 S E 2 s R s T RES,  FER AR >
HER TIRIE N 510" em®, #0174 A 10ps, b TiERF N 500em?/V-s, ¥
B %2 WM k=1.38X10%2)/K, BT HE q=1.6X10"°C, FEMLBIE. HHEEE
(300K) T :

(1) AP BER T Y B Les

(2) 7ERR BRI 2L, Ao/ TR H &%,

(3) TEHR BRI 2L, 4D FIF BB IR

75~ (20 93D AHULHLE G ERBES T B R Bk, nITEIRZ RS 2N . B
A —E SR SR QUIN R H Wo=5.06eV )OI n B 1Ak Si- (G4 At y=4.06eV)
TE B R, OB AR & 8 - SRR A CREIMBCAN S, N7
ERMA, AHEFAR B E SN, BT =i 300K T
(1) 7~ M PGP Q/n-Si i 1 BRAR BE A 1
(2) ¥ n BEEIIB K E Np=2.8 X 10% cm®, S (1178 ZOIRAS 258 Ne=2.8 X 10
em®, SRICPHAHLE P LA L2 EE Qs FEXILRIA 2 FE qVb
FIVEEE A PR RE SR IX 55 P Xgs
() /AE H/NENT Z FHRBADFHBITK -V XR. &0 7FHa N 1001,
SFIERSE N 500em? Vs, W ER T E L2 FHRBHEENIE. (BS
I HL W $e0=8.85 X 10™Flem,  TEEMIARNT A Ho o $e,=12, WL FHLE q=1.6X
107°C, A R A 5 A*=240A/cm’K?, AAFEHR TR E ni=1.0xX 10 cm’®,
25 T kT=0.026eV)
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